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(. =F cos@ =600 cos 40 = 600(0.7) = 420N
F, =F sin@ = 600sin 40 = 600(0.6) = 360N

(M =rF. =(4)(420)=1680N .m

M, =1F, =(2)(360) = 720N .m

Y

M =M_ +M =1680+720=2400N .m
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M =1F =(1.6)(30) = 48N .m  cuto g 5,5l




F.=F cos@=30cos45=30(0.7)=21N
F, =Fsm@=30sn45=30(0.7) = 2IN




1.6
x =1.12m

r=112+1.6=2.72m

M. =rl, =(2.72)(21)=57.12N .m

X




M, =, =(21)(1.12) = 23.52N m

Y

M =57.12+23.52=80.64N .m
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M =dF =(0.4)(400) = 160N .m
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=— 75 mm

M =dF =(0.075)(10000) = 750N .m
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M =dF =(3)(1000) = 3000N .m




